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Rational Numbers (Part 2) Performance Task
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1. What is the definition of a rational number? Include an example of a rational number.

A number +ict carm be written as a ratio

of “two integers. v oz =% 5
! ’

2. Which of the following is NOT a rational number?
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3. Which of the following is NOT a rational number?
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4. What number do | need to add to _ 5 to get the sumof 07
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6. What is the value of x to make the statement true? (-7 +5) +x =0
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7. What is the value of x to make this statement true? (=3-2 + -}) +x=0
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8. Solve the following, show how you solved using a number line:
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9. Solve the following:
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10. Use the followmg to show whether multlplylng a positive number by a negative

number is equal to a positive or a negative number:
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11. Use the following to show whether multiplying a negative number by a negative

number is equal to a positive or negative number:
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12. Jorden brought a bag of candy to school. There were 100 pieces. How many
pieces would each student in class get? (There are 25 students in class.)
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a. If Joshua decided to bring in 5 candy bars instead of a bag of candy, how much
would each student get? 2 3___ _1__ 3___

l \u( \J [©) 5 ﬂl lo ' n\in|a .‘;Fq l'(;{Tz‘,W 2|22,

o]

| 2O v I
}jc( r\\S \OUL s J g (OU/\C\(;S ‘Oflr/ghmclf“/dhl
2/5 shiacteves .

5
b. If Joshua brought in 6 candy bars with coconut in them, but 3 students don'’t like
coconut. How much will each remaining student get?
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13. Valerie wanted to bake cookies for her class. The recipe calls for 2% cups of flour
and makes 18 cookies.
a. She decided to double the recipe because she wanted enough cookies for
everyone in her class to get one. How much flour does she need?
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b. If there are 24 students in her class, and she does not want any extra cookies,
how does she need to adjust the recipe?
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c. Inthis case, how much flour would she need?
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14. Every month, Ms. Vazquez pays her car loan through automatic payments (withdrawals)
from her savings account. She pays the same amount on her car loan each month. At the end of
the year, her savings account balance changed by —$2,931 from payments made on her car
loan. (Remember, there are 12 months in a yeat.)
a. What is the change in Ms. Vazquez's’ savings account balance each month due to her
car payment?
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b. Describe the total change to Ms. Vazquez's savings account balance after fp_g_ﬂ_:_ng six
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15. Michael’s father bought hi h?ﬁ'a 16-foot board to cut into shelves for his bedroom. Michael
plans to cut the board into 11 equal size lengths for his shelves.
a. How many cuts will Michael make to the board'? (Draw a diagram to determine this.)
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b. The saw blade that Michael will use to cut the board will change the length of the board
by —-0.125 inches for each cut. How will this affect the total length of the board?
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c. After making his cuts, what will the exact length of each shelf be? ' I”} ﬁcfﬁ‘mm
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